T 4 FERERAEER(EE)RHIRBR

I AR
HERX Y HATEEL ERIAEE ZEREL [A] | ZEEE (%) 1REIRER | 2 RZEREH 3IRFERE |RigEtEEL [B] | 5% [A/B]

EZ2 60 733 359 49.0 163 82 4.4
K 30 92 59 64.1 44 27 2.2
ZE 7 43 30 69.8 22 12 2.5
P 14 54 31 57.4 24 15 2.1
BR 15 47 23 48.9 19 12 1.9
5 126 969 502 51.8 272 148 3.4

I ¥ BIRAEER(— A )

HERX 5> RATESEL EIAEE ZEREL [A] | ZEEE (%) 1RERESR | 2RZHREL | 2XEBER | 3RZHREL |RREIREL [B] | 42X [A/B]
TR (—REh ) 360 2,501 1,677 67.1 1,040 540 3.1
TAR(—REA) 130 311 236 75.9 205 154 1.5
BE(AR) 10 68 50 73.5 44 28 1.8

etk 35 88 60 68.2 51 37 1.6
BR 33 82 54 65.9 48 27 2.0
HRRE 10 106 74 69.8 32 15 4.9
WE 5 75 61 81.3 22 14 4.4
BE 2 31 28 90.3 11 4 7.0
IKE 6 51 37 72.5 22 9 4.1
EE 8 39 30 76.9 22 10 3.0
D 29 167 135 80.8 99 53 2.5
FBALA 34 102 80 78.4 57 45 1.8
[=Ee 1 0 - - - - -
BEER 9 56 44 78.6 33 11 4.0
KET 16 164 125 76.2 44 21 6.0
HE 10 44 34 77.3 29 17 2.0
FHIA 1 1 1 100.0 1 1 1.0
FHIB 8 58 44 75.9 21 9 4.9
&af 707 3,944 2,770 70.2 1,781 995 2.8
I BIRMARER (#i5 )

HERX S HAFEER EIAEE ZEREL [A] | ZERE (%) 1REBESR | 2RZEHREL | 2REBER | 3RZHREN |REEEEL [B] | 48X [A/B]
TREHR) 105 697 521 74.7 352 311 206 189 139 3.7
ICTETAT) 10 70 39 55.7 36 29 22 21 15 2.6

&at 115 767 560 73.0 388 340 228 210 154 3.6
I ARR AR
HERX S FATEER ERIAEE ZEREL [A] | ZBRE (%) 1RERESR | 2RZHREH 3RZEREY |REEBESR (B] | &% [A/B]
EES 4 139 94 67.6 22 5 18.8
FET 9 146 105 71.9 32 13 8.1
&t 13 285 199 69.8 54 18 11.1
3R
HERX S HAFEER EIAEE ZEREL [A] | ZEE (%) 1REIRES | 2 RZERE 3IRZEREL |RiEEtsEL [B] | 5% [A/B]
EZ2 60 954 682 71.5 190 93 7.3
EZN 37 176 147 83.5 128 86 1.7
ZE 1 13 8 61.5 7 3 2.7
AR 16 43 32 74.4 27 18 1.8
BR 17 58 48 82.8 44 29 1.7
&t 131 1,244 917 73.7 396 229 4.0
[EEEENRE IS MBURAHRE
7 HAFEER ERIAEE ZEREL [A] | ZERE (%) 1REBER | 2RZEHREL | 2REBER | 3RZHREY |REEEEL [B] | 48X [A/B]
EZ2 40 399 290 72.7 144 133 47 6.2
Fv U7ERRRES
BERXS RAFTEER EHAEE ZEREL [A]l | ZERE (%) 1REIRESR | 2RZRHREL | 2XEBER | 3RZRELN |RREIRELS [B] | £X [A/B]
RS 1 8 7 87.5 5 4 1 1 1 7.0
7 5 60 48 80.0 17 13 8 7 7 6.9

TBE 4 16 12 75.0 5 5 2 2 1 12.0

TARFETRT 21 39 31 79.5 23 20 15 14 14 2.2
IS 2 2 2 100.0 2 2 1 1 1 2.0

EEBE 2 1 1 100.0 1 1 1 1 1 1.0

EEME T 5 13 11 84.6 5 5 1 1 1 11.0

(2B 10 38 29 76.3 18 15 11 11 10 2.9

BRHE 10 26 21 80.8 15 13 9 9 8 2.6

ICT 20 124 103 83.1 72 70 40 39 32 3.2
HE 2 4 3 75.0 3 3 3 3 2 1.5

NEER 2 18 15 83.3 9 9 6 6 3 5.0

BE R 20 33 27 81.8 15 15 8 6 6 4.5
EBh = 2 21 13 61.9 9 9 6 6 3 4.3

aaf 106 403 323 80.1 199 184 112 107 90 3.6
MKt 2R RE UERAER (1I58B)
HERX S HATEER ERIAEE ZEREL [A] | ZEE (%) 1REIRES | 2RZEREH | 2 REEEHN | 3RZEREN |RESIEESR [B] | 5% [A/B]
EZ2 10 809 492 60.8 36 32 16 30.8
FERK Tt R E UMK (%)
HERX 5y RAFEEH EIAE SZEREL [A] | ZERE (%) 1REIRER | 2RZEREN | 2REEEL | 3RZREN |REESIEESR [B] | 2% [A/B]
EZ: 10 686 434 63.3 38 35 15 28.9




